ADEH TN

JEJIT /L 718 258
NOHEIAN 40 4€9A298 (K)
O—X: OUT
A5—b/#8 Player 1 Player 2 Player 3 Player 4
8:31 1001 5033 1002 5042
1 #i8 THF & M fLF Bk Bl RRER #% B’ AEF K&
8:38 1003 5034 5036 5037
) ik B Fk BrI&R  EEA R AlE Bz I {8 &
8:45 1004 1005 1006 1007
3 g 155 #k INE BMHER # BlE K17 % BRH =R A
8:52 1008 5038 5039
4 TR B EVNZ N QA FiE EZX #
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ADEH TN

JEJIT /L Z18 55
S[)==P2a 40 4898298 (K)
d—X: IN
A9—b/%8 Player 1 Player 2 Player 3 Player 4
8:31 1009 1010 1011 1012
5 K 2LF Bk HE EZ #% %k BB 4% HHE T8 K
8:38 1013 1014 1015
6 218 & FO &EF #& AH BF ¥
8:45 5040 5041 1016 1017
; TH 1R B =5 =if & /N FORE B INGE B B
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